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General Instructions :
Read the following instructions carefully and follow them :

(1)
(i)
(1it)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

61/4/1

This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.

Section A - questions number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.
Section C - questions number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to
350 words.

Section D — questions number 31 to 33 are Source-based questions having
three sub-questions. Each question carries 4 marks.

Section E - question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and E of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Which of the following statement best explains the uniformity in urban
planning across Harappa ?

(A)  Presence of Central authority

(B) Management by city-states

(C)  Organisation of tribal leadership

(D)  System of nomadic governance

Identify the ancient rulers of India from the given options using the
provided information.

o They belonged to important ruling lineage.

o They were the immediate successors of the Mauryas.

o They were Brahmanas.

Options:
(A) Mauryas and Guptas (B) Nandas and Cholas
(C) Satavahanas and Kushanas (D) Shungas and Kanvas

Page 3 of 27 P.T.O.
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3. Refer to the given image of the sandstone sculpture. Which one of the
following dynasties does this sculpture of the King represent ?

(A)  Gupta (B) Maurya
(C) Kushana (D) Satavahana

Note : The following question is for Visually Impaired Candidates only, in
lieu of Q. no. 3.

How did Ashoka spread the principle of dhamma across his empire ?
Choose the correct option from the following.

(A)  Through military conquests

(B)  Through educational institutions

(C)  Through inscribed edicts on pillars and rocks
(D)  Through diplomatic alliances

4. Two statements labelled as Assertion (A) and Reason (R) are given below.
Read them carefully and select the correct option :

Assertion (A) : The Tripitaka written in Pali is one of the primary
collections of Buddhist scriptures.

Reason (R): The Tripitaka consists of three collections, which include
the Vinaya Pitaka, the Sutta Pitaka and the
Abhidhamma Pitaka.

Options:
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
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&




X e KX
5.  Trmafafed & @ -8 o gewn i Tiedl &1 T JuiH Fd © ?
I TS el T TohEt STHaR o fo o+ 81d o |
II.  ESOTE ek fewel |fed oeht gt & ot gt off |
1. EeudTs Hed &= forsa o fore STt it of |
IV. QWS Hell i STANT 98 &Y § Iarei H o Sar o |

fremea:

(A)  FFIARMIEHE)
(B) T IARIMTE T |
(C) e I aHT |
(D) T I IV T & |

6.  feu foeredt 7 @ 3ford 3rse & e T AT gfd il ;

S g |, SH % Tk ¥ Hfth o fIg @ 3R que i 3y Ea)
T &, S ST#H 3TR q % =k Y Ah & |

(A)  SAREr

B) H

(C) Hi

(D)

7. HEIYRA HI T TR H T a1 ST & 2 FEfaiad § § qee SR foehed #

T I |

(A) I8l TR H ATiEhad oK Rer 7 |
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5. Which of the following statements accurately describe Harappan seals ?

L.

X e KX

Harappan seals often feature animal motifs.

I1. Harappan seals were made of terracotta with symbols.
III. Harappan seals were known for military victories.

IV. Harappan seals were predominantly used in burials.
Options:

(A) Statements I and II are correct.

(B) Statements I and III are correct.

(C)  Statements II and III are correct.

(D) Statements III and IV are correct.

6. Fill in the blank with the appropriate word from the given options :

In Jainism, the practice of severe asceticism and non-attachment is

intended to achieve

birth and death.
(A) Ahimsa
(B) Karma
(C)  Moksha
(D) Dharma

, which is liberation from the cycle of

7. Why is Mahabharata called a dynamic text ? Choose the most suitable

option from the following.

(A)
(B)
()

(D)
61/4/1

It remains unchanged and consistent in all versions.
It has been reinterpreted across various contexts.
It focuses solely on historical facts.

It is a fixed text with no variations over time.
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8. WY I a0 11 ¥ HifST 31T T forehed sht == hifSTT |

Y/ @y Il
(@) (a71)
a. 3IA-foret i, HIGFRT
b. HIeRI 9l ii. ISSfREd
c. I ST iii. gzl
d. IFSGITSSTH iv. gHGhe
%lEh_cf‘T:

(A)  a-i, b-ii, c-iii, d-iv
(B)  a-ii, b-iii, c-i, d-iv
(C)  a-iii, b-iv, c-i, d-ii
(D)  a-iv, b-i, c-ii, d-iii

9. fmfafed ¥ & %-ar SireT vt gafera 7& 2 2

Gkl (&)
(A) @ qgTEH foredt ~ HSTH
(B) TSI Hee TReca shieh! ~ feeett
(C) I HHIgEH TIST-T-TrehT - STSIY (ITTRET)
(D) g fsmE sifern = ST

10. A HifcH Hebstt o T gl & Wegll & I H JESA THHRT HT J&T &id

freforRaa & & siF-ar ar ?
(A) ol =S

(B) qufedt i wyfeat
(C)  Torexft Aot & i
(D) <A g
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Match Column I with Column II and choose the correct option.

o P

e

d.

Column I
(Traveller)

Al-Biruni 1.

Marco Polo ii.
Ibn Battuta iii.
Abdur Razzaq iv.

Options:

(A)
(B)
©)
(D)

a-i, b-ii, c-iii, d-iv
a-ii, b-iii, c-1, d-iv
a-iii, b-iv, c-i, d-ii

a-iv, b-i, c-ii, d-iii

Column I1
(Country)
Morocco
Uzbekistan
Italy

Samarqand

Which one of the following pairs is not correctly matched ?

(A)
(B)
(©)
(D)

(Sufi)
Shaikh Muinuddin Sijzi

Khwaja Qutbuddin Bakhtiyar Kaki —
Shaikh Fariduddin Ganj-i Shakar -

Shaikh Nizamuddin Auliya

(Region)

Ajmer

Delhi

Ajodhan (Pakistan)

Agra

Which of the following was the main source of initial information about

Hampi’s ruins for Colonel Colin Mackenzie ?

(A)
(B)
(®)
(D)

British documents
Memories of priests
Foreign travellers account

Epigraphic inscriptions

Page 9 of 27
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12.

13.

14.
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I I fo uses e
II. 197 TR e &

III. ettt e

IV. 3Ty i Sfafar

forerea .

(A) L IIIRIV (B) I, II3ARIII
(C) LIISRIV (D) II, III 3R IV

A& o STTEN, TR H IHeh 7o ST 3 Yot fohe Sehr htd o 2 freforfiaa
Y e IR forehed T |

(A)  Th w9ty i sgreT 39

(B)  3feles wwrar gfera sk

(C) o AT 1 ST hleh

(D) Tl ol it foehfeed ek

T HINT Foh AT TARRT [R=TTae UG T8 & S afiet H Uoh "ol U9 & | 39
HUE ! SAFHL A A8 FT HgT ST & 2

(A)  3HY AU 9 % HEF SR fFRm E

(B) ST HTitieh Hewe daf o THH 2 |

(C) % UfTRTIéeh T3l ol S&Tel § |

(D) g Hfer famfor i et 2
frfaitaa T 1 o1 firam s 11 9 hifsre 37t o fosred =61 == AT |

@y ] Yy I1
EEEEUERIECE]) (FNTET)

a. @M i, O I wSted TR

b. HET ii.  FIQT T T Hefe el & o

c. qU@ iii. TRfar et i

d. 3wfag jv, ToSETR A 7 AR TS

forerea

(A)  a-iii, b, c-ii, d-iv (B)  a-ii, b-iii, c-i, d-iv

(C)  a-iv, b-iii, c-ii, d-i (D)  a-i, b-ii, c-iii, d-iv
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11.  Which of the following informations were included in the tables of the

sarkars in the Ain-i-Akbari ?

I. Grants of revenue in charity
II. Total area measured

III. Number of forts

IV. Biographies of officials

Options:
(A) L IITandIV
(C) ILIIandIV

(B) I, ITandIII
(D) IL IIIl and IV

12. According to Montesquieu, how did the rulers in Asia manage their
subjects ? Choose the most appropriate option from the following.

(A) By promoting private property
(B) By ensuring economic equality

(C) By exercising absolute authority

(D) By decentralizing powers to leaders

13. Imagine reading the ‘Nalayira Divyaprabandham’ a significant text in
Tamil. Why is this collection often referred to as the Tamil Veda ?

(A) It contains laws and regulations of Tamil society.

(B) It holds religious significance equivalent to Vedas.

(C) Itis documented as a historical epic based on events.

(D) It serves as a manual for temple construction.

14. Match the following Column I with Column II and choose the correct option.

Column I

(Dynasties of Vijayanagara)

Sangama 1.

Saluva ii.
c. Tuluva 1il.
d. Aravidu iv.

Options :
(A)  a-iii, b-i, c-ii, d-iv

(C)  a-iv, b-iii, c-ii, d-i

Column II
(Contributions)
Strengthened military

Belonged to Krishnadeva Raya
Constructed Hiriya canal

Last dynasty of Vijayanagara empire

(B)  a-ii, b-iii, c-i, d-iv

(D)  a-i, b-ii, c-iii, d-iv

61/4/1 Page 11 of 27 P.T.O.
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15. Sfoe frenret & fammlt 3 vy # forfest verea Hifaat st e srfora fomam 2
(A) %Il o foTu Rer Tsiea BT ol STOHTAT
(B)  3fIHd I o TR 0 q-EaTHT ol STRIRIT ST 9 HT ST
(C) TEAYR QTS oh SATIeh I i-ard
(D) e o TorehTel o UeT § T ST SR

16.  “@a AL oY, 1 Al Fidt et T off — 27 dith Feforfiad 3 @ fore foredt 2
(A)  wEet
(B) TRAIR s==[
(C) g1 FHH e
(D) TN foE foert
17. Treafafaa sreArsti sl srershy & srafterd hife iR wet fashed 1 == Fifse :
I. wer ¥ fohe 3iaieH
I iTef-sefem awsitar
III. <P RA AiEeH
IV. e § st i am
farerea

(A) IV, I, II,1II
(B) II, I II,IV
(C) IILII,1V,I
(D) TIIL L IL,IV
18.  wforer | o gev | wfufat R 3o steaa o wfifiad # 9 si-er g wEi 2 2

@fafd) (37E78)
(A) TTHS Gt ~  OIER IoTITE Ued
(B) FeTHiufd — TS an
(C) HaTer Afufd — 9. Fuarh
(D) Hat=a = qiufd — AT R
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15. How did David Ricardo’s ideas influence British revenue policies in India ?
(A)  Adoption of fixed revenue demands for Ryots
(B) Taxing landowners’ surplus income based on average rent
(C)  Widespread implementation of Permanent Settlement

(D)  Rejection of revenue in favour of village development

16. Who amongst the following wrote the line “Khoob Ladi Mardani, Woh To
Jhansi Wali Rani Thi” ?

(A) Mahadevi Verma

(B) Harivansh Rai Bachchan
(C)  Subhadra Kumari Chauhan
(D) Ramdhari Singh Dinkar

17. Arrange the following events in chronological order and choose the
correct option :

I. Peasant Movement in Kheda
II. Gandhi-Irwin Pact

III. Champaran Movement

IV.  Noakhali Visit of Gandhiji
Options:

A IV, LI, III

(B) II,IIII IV

(C) ILILIV,I

(D) IIL I 1II IV

18. Which of the following pairs of Committees and their Presidents is
correct regarding the Constituent Assembly ?

(Committees) (Presidents)
(A) Advisory Committee — Sardar Vallabhbhai Patel
(B) Flag Committee — N.G. Ranga
(C) Steering Committee — J.B. Kripalani
(D) Supreme Court Committee — Jawaharlal Nehru

61/4/1 Page 13 of 27 P.T.O.
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19. frefafaa & @ Si-ot afeer aws @ diaum o F gee ot ?
(A) FHAATIEE
(B) g@rHEdm
(C)  foraT ssff
(D) fosacet dfsa

20. = @ e fog e 2, sifieRe (A) 3R RO (R) | 3R SAMYEe 916y 3TN &t
[EEISEACREEDIE 1

HFIT (A) : SIS G WA T I T2T, ST S TEd HH 6 HROT HAE H
T o foTT 39h S31 AT SITaT o |

FRU(R) : AU TeTE (1861 — 65) % HRIT SFHNHT § Fe<l HUTH o TR H
SecrEH T Frae 317, Srae 518 i ohfods |l i aaTmsT i aet |

faemeT :

(A)  3IfiReA (A) 3T RO (R) SHT Tl § 3 SRor (R), 3ifymmed (A) it @&
AT HAT S |

(B) AN (A) TR RO (R) IHT W&l 8, T T (R), 3AFHA (A) T F&
AT T AT 2 |

(C) AN (A) Hel &, T 1T (R) T & |
(D) 3Af¥he (A) TTed &, T 0T (R) Tt 2 |

21. 1857 o fagie # Jarsdl 1 ftrent & das # freh T il i & forg feaferfaa & @
HeY foreheq 3T =19 hifSIy |

T AR EALRIS gmtﬁq%' :
(A) TR

(B) U@
(C) Teym

N

(D)
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Who amongst the following women was a member of the Constituent

Assembly from Bombay ?

(A)
(B)
(&)
(D)

Kamala Nehru
Hansa Mehta
Purnima Banerji

Vijayalakshmi Pandit

Two statements labelled as Assertion (A) and Reason (R) are given below.

Read them carefully and select the correct option :

Assertion (A) : India was considered a suitable country for cotton

cultivation due to its soil, climate and cheap labour, by
the Britishers.

Reason (R): The American Civil War (1861 — 65) caused a significant

drop in raw cotton imports from America, leading Britain
to seek alternative sources.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

Choose the correct option from the following to fill in the blank regarding
the role of leaders in the Revolt of 1857.

Nana Saheb : Kanpur; Kunwar Singh :

(A)
(B)
(®)
(D)

Gwalior
Meerut
Singhbhum
Arrah
Page 15 of 27 P.T.O.
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T FHIFAT |

(@F) ToSETTR e i ST TS YO ST YL i hl shodqT Shifee | 36
TS o ST HETEHT o 36eh! 1Y 3T et forehre st foret enme arwel fo=m 2
T T |

YT

@) ISR % AR feRen & SR T ST S i heuHT Shife | I8 AR i
ST AT FEGHAT S ATHIST o ST Hefeli o aX § 7 THhH od @ 2 T
FHifere |

TT% ek o =hl TRT&TIAT 26T 0 shifery |
SIS o ToRETT YL A SIa€T o TTa T ohT forsdor shifsu |

eI |1 H HEETE o Hav H g3 AT ==l ol st hifT |
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27.
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(a)

(b)
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SECTION B

(Short-Answer Type Questions) 6x3=18

“Historians consider several elements when they analyse the
Mahabharata.” Substantiate the statement with suitable

examples.
OR

“Many communities during the Mahabharata period had different
social practices from Brahmanical ideas.” Substantiate the

statement with examples.

How does the Sanchi Stupa reflect the religious and cultural beliefs of

ancient India ? Explain with examples.

(a)

(b)

Imagine studying the water management system of the
Vijayanagara empire. How did the empire’s water resources

support its agriculture and urban development ? Explain.

OR

Imagine studying Vijayanagara’s trade records. What information
do they reveal about the goods traded and the empire’s economic

connections ? Explain.

Describe the teachings of Guru Nanak Dev.

Analyse the impact of the Ryotwari system on the ryots of Bombay.

Explain the central debates in the Constituent Assembly regarding

federalism.

Page 17 of 27 P.T.O.

&



X e KX
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(Fr-3TT TR F T9) 3x8=24

28. (%) HOIA HINT foh T TIAhAr % INW S-S T T Sefirh wrisH
forshfrd ot T8 € | 319 39 WA o SHIETTeE! o St o o T Teeedl
ST AT 7 T FHITT | 8

AT

(@)  HIT ST T HATTehT Tt ATHIOT G H AISATSAT o ARTEM W R0 HLA T
1 |1 TT 2 | 379 Y ST ISt H ITh! HRIAT T Freeisor s s 2
Tee HifeT | 8

29. (%) HfyeiE @redt H SEfaaT STdia S aue st gHI &THar i fohe TeRr Effia

o

AT & 2 ISTEN Eied I iU | 8

AT

(@) S i R aHEd H e e TR qoga did § 2 3ael wfed e

i | 8

30. (%) 1919 3 1922 % si= WA sht TiHIfash i st aRwTivg = areft sea

AT 3T T shl SITEAT SHIfSTT | 8
AT
@) < AT T Hewd I EdadT STl I 36k THTE hY SRedT hifey | 8
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SECTION C

(Long-Answer Type Questions) 3Ix8=24

Imagine if you were developing an educational programme on
forest life during the Mughal era. What key aspects of the life of

forest-dwellers during that time would you explain ? Substantiate.

OR

Imagine if you were tasked with researching the contributions of
women in Mughal rural society. How would you analyse their roles

in agriculture and society ? Explain.

In what ways do the challenges of inscriptional evidences restrict

our ability to understand the past ? Explain with examples.
OR

In what ways do coins serve as valuable sources for understanding

the ancient period ? Explain with examples.

Explain the major events and movements that defined India’s

political condition between 1919 and 1922.

OR

Explain the significance of the Dandi March and its influence on

the Independence movement.
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feLES)

(TTA-SATETHRE T9) 3Ix4=12

31. TRUICEN I AMEF ITGT HR 386k i< 3T 7 Tt o I AR : 1+1+2=4
TA- AT TR SATHLT

ST foh 319 99 Hehd § fob qel ot wraeTigEes qAfAdeor it qeedt
TEATSAT 1 I TE ¥ I o1 ¢ | 36 Hoig H, TETTET e W &1 & H o6 1
QA -SATTA I STTHE T Iee@ HAT ATERAF ¢ | I8 e S & fan
ot o Rord € | 98 T ST TSI 06T &, S 550 SHRAT & H Hedl g1 2 |
BSIETTGAT o STIANRT 3IAETE I AT A o ¢ TEITET H Gars & 9o A
R o AN § AT FHRTeT T o7 | F7 MY FE SFRA Hicisl SiRe I,
U1 T H BR e TS Ao Srlciisit, 8eUee 3R BT6e HfShe hicisl
HEANT ¥ FoRaT T o | SRSl o fared T & waT <t @ o seviTaTH 39 & % q
et o |

TSWUETGRT 31 SAARTE ST 10,000 36T [ T STl & | SHTETGAT AT
ST 3T dh H1IH & T SRI0T TS AT a1 AR fRTeT 39 I3l Yaid
B & | TSI o LA % &Pl % |1 AR AR iehiaeh HIehi o T A
TTEAT 8 ST ohT 207 gAT | ATTei e Sfererer o wrer-wrer wieehfaen sfaere o o fopet
THTIE o [HLALAT T YTH BT QAT ST 6 ¢ YA I SNTHA o [Hgid bl quid:
et g e © | 39 3 @ Fg oft var =rerar € T dred? samen A grans %
TATRT ¥ A a7l AN YR 9T § AR 8 ¢ o qr foret off Tat 9T, et st
AT SieT = &1 SR §HT 7 Wied 31T | STH-Si8 ggudrarsl! 30 SR qey TR
FT TR TG T 37k S off efft-efit 37 &t O St & |

STerhatatl i ST 9 T ST HEHAT o AR Al off-St SARBTR 1 g
fohaIT | BSWT HEHIA o Bt T TEW o GAHIHA =el 1 Socie1a &9 § ST 6t
AR SATEMET o el & | THEAT © | 3Td: 39 I | 39 &7 § 5000 INI i
TSI oI Aieapfaen friaan foams a2 |

(31.1) T &7 I I GIa13Tl bl TAeT H 8 IeH a1 © 2 1
(31.2) SFTEH SfET0T TRAN H AR 3fdem™ & IR § gAH wwg R @ Y
TR AT ® 2 1
(31.3) TENTET & IS ¥ AT (DNA) e 3R 3o faduu iR aga e ? 2
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SECTION D
(Source-Based Questions) 3x4=12
31. Read the given source carefully and answer the questions that
follow : 1+1+2=4

Archaeogenetic Research

As you can see, a careful re-examination of the data can sometimes
lead to a reversal of earlier interpretations. In this respect, it is necessary
to mention the recent archaeogenetic research carried out at the site of
Rakhigarhi. The site, located in Hisar district of Haryana, is the biggest
Harappan city, spread over an area of 550 Hectare. In order to study the
genetic history of the Harappans, DNA was extracted from the skeletal
remains excavated at Rakhigarhi. This research was carried out by The
Deccan College Deemed University, Pune in collaboration with Centre for
Cellular and Molecular Biology, Hyderabad and The Harvard Medical
College. The analysis of the data indicates that the Harappans are the
indigenous people of this region.

The genetic roots of the Harappans go back to 10,000 BCE. The
DNA of the Harappans has continued till today and a majority of the
South Asian population appears to be their descendants. Due to trade
and cultural contacts of the Harappans with distant regions there is a
mixture of genes in small quantity. The continuity without any break in
genetic history as well as cultural history rules out large scale
immigration of the so-called Aryans. This research also indicates that the
people coming from bordering areas and distant regions were absorbed in
the Indian society. At no stage, the genetic history of the Indians was
either discontinued or broken. As the Harappans started moving towards
Iran and Central Asia, their genes also gradually spread in these regions.

The same team of researchers reconstructed 3D features of the
Harappan people. The reconstructed facial features of the Harappans,
male and female, show remarkable similarity with the modern
population of Haryana. Thus, this study has indicated unbroken
continuity for 5000 years in this region.

(31.1) How does the research at Rakhigarhi contribute to understanding
of ancient civilizations ? 1

(31.2) How does the research redefine our understanding of genetic

history in South Asia ? 1

(31.3) What is the significance of extracting and analyzing DNA from the
remains at Rakhigarhi ? 2
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32. TRUIICH I AMYEF UIGT SN 36k A 4T 7 Te1 % I ST : 1+1+2=4

foreTrer ug=r aredt g W
TR o forvr & o1a-foret o7 foraan 2 -
afe 3T 30 ST (Eeha wTT Higd i) & IR I =Ed €, 9 98 e e e
FifeR ST WTST o6 T &, Tear ot forfera, a1 6 € 58 W o o w5 foqd
2 | 3O U & %] o foTT hé wreq, Tt oI SFedT 2T, T B § ST U o W 1
STRT 8 et o fore B &, o wieft o e o ot e fersiors wiohamat
T ¥ e GHL § STCRT fohaT ST ST 2 |

(82.1) A-forefl o1 €l T AU AT &I o AT 6k ATTF TS bl Hel

RIaT e ? 1

(32.2) H&HA SR STl o off=l -1 THE FHIAT bl Aot 7 IS foarm 2 1

(32.3) TCI-ereT 3 HEaRd ol Teh THG, WTST T STl ? 2

33. TRUTTHN I LAY UfGT SN g8 = faT g Jei % I T : 1+1+2=4
HieTelt rgHgeeT vITe

Hierel STeHgeel M8 1857 % i # 31en Jffert f1uH arel srgd o dicfor= § &
TS 9 | Retee § it vime it v 3 U & SuTeh s T o | 1856 T 3% IS
e FSETe & TR FTd 3R AN ! foRiE & g 9 d Y a-Ta SITd o n
TRT 9T | F Teh UTeTeh! | 3Rt Teld o | UTetehl oh SAM-3TM @it AR G 3ok aqdien
B ¥ | TEAT 32 TS Soht TITE v o1l o | farfeer o1her 3@ ota & W o fon
U % |TY B AT 9 @ o 3R 98d 91 JHAHH 376 GFa A TR o 3R
TS o o 98 ST o TSR & UG § | S 1856 H o @S g dl Iierd o
3¢ YTeL B IUQYT o ¥ Tk T | 1857 § I Shwtrelte St H sig & fozm | g 29
T 378 224 Afed Rt o Fargifedt = 7o war = fora | 38 farere o foreama o
T e fore e S e At STaTs Attt SIS genfeal ol Hg ol @ Ul | et
TTES i ITeh! SETGL AR ATehel o foTT STHT ST o7 | SIgd @ IR HAd o fof Seht
IS TEN B Wehl; STk UTH SI1GS VAT & HAIT SIS STk STt i feht el T Tohel |
SHTHT TS qoh SHT fITaT o HIROT 378 AN H ST STRIHR ITH o7 |
(33.1) HicTell STEHGT YT T ST I’ 1 HeT ST o ? 1
(33.2) HicTall STEHGeeT ITE o TG TTe T TsifeaT tfershiiart sh = wfciforam off 2 1
(33.3) HicTdll STEHgeel WTE o 1 o €€ o W | ferfewr e o foreg Tfcra =1

9T o ? 2
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Read the given source carefully and answer the questions that

follow : 1+1+2=4

A language with an enormous range

Al-Biruni described Sanskrit as follows:

If you want to conquer this difficulty (i.e. to learn Sanskrit), you will not
find it easy, because the language is of an enormous range, both in words
and inflections, something like the Arabic, calling one and the same thing
by various names, both original and derivative, and using one and the
same word for a variety of subjects, which, in order to be properly
understood, must be distinguished from each other by various qualifying
epithets.

(32.1) How did Al-Biruni’s description of Sanskrit reflect his
engagement with Indian culture ?

(32.2) What key similarity between Sanskrit and Arabic did Al-Biruni
highlight ?

(32.3) Why did Al-Biruni consider Sanskrit a rich language ?

Read the given source carefully and answer the questions that

follow : 1+1+2=4

Maulvi Ahmadullah Shah

Maulvi Ahmadullah Shah was one of the many maulvis who played an
important part in the revolt of 1857. Educated in Hyderabad, he became
a preacher when young. In 1856, he was seen moving from village to
village preaching jehad (religious war) against the British and urging
people to rebel. He moved in a palanquin, with drumbeaters in front and
followers at the rear. He was therefore popularly called Danka Shah — the
maulvi with the drum (danka). British officials panicked as thousands
began following the maulvi and many Muslims began seeing him as an
inspired prophet. When he reached Lucknow in 1856, he was stopped by
the police from preaching in the city. Subsequently, in 1857, he was jailed
in Faizabad. When released, he was elected by the mutinous 22" Native
Infantry as their leader. He fought in the famous Battle of Chinhat in
which the British forces under Henry Lawrence were defeated. He came
to be known for his courage and power. Many people in fact believed that
he was invincible, had magical powers, and could not be killed by the
British. It was this belief that partly formed the basis of his authority.

(33.1) Why was Maulvi Ahmadullah Shah called ‘Danka Shah’ ?

(33.2) How did British officials react to Maulvi Ahmadullah Shah’s
growing influence ?

(33.3) To what extent did Maulvi Ahmadullah Shah’s action reflect the
resistance against British rule in India ?

Page 23 of 27 P.T.O.




X e KX

LG Lcacd
(WA TerT-SATETE ST9T) 3+2=5
34. (34.1) WA & fou U TSR @ AHes (T8 27 W) H, HEfdiad ® 3w
gt & sifera FifSTe oK 37k 7 fafae 3x1=3
i = -

(i) TSI — FSTIT JTrEre
(iii) (F) A — S ok TefiT &
AT

(i) @) TR - foeeR TS Y TeteTE

(34.2) WRA o 3H THIfder WW@T-AFT W 1857 o 9518 o a6 sheal ol ‘A’ 3
‘B ¥ Afehd foram TIT B | SR Te=AY 31T 39k Hel 9 3ok fHehe Gl
8 {@ren i fafiay | 2

ie : ARG 94 Shecl greaTiad aiterfofal & Uy, €. 34 FH T W e

(34.1) 2f&T0r YRA o Tl ST TN st Tl T 3ot ShifsTT | 2

(34.2) (F) T GTHTSH o e forelt weh &1 a1 4 foafia | 1
arera

(34.2) (@) TR AT i Tta 1 Am fafaw | 1

(34.3) 1857 o forsiie o fehwel &1 9@ el o I feiflaT | 2
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SECTION E
(Map-Based Questions) 3+2=5

34. (34.1) On the given political outline map of India (on page 27), locate
and label the following with appropriate symbols : 3x1=3

(i) Sanchi — A Stupa

(ii) Kalibanga — Harappan site

(iii) (a) Panipat — Territory under the control of British
OR

(iii) (b) Vijayanagara — Capital of Vijaynagara empire

(34.2) On the same political outline map of India, two places have been
marked as ‘A’ and ‘B’, as the centres of the Revolt of 1857.
Identify them and write their correct names on the lines drawn
near them. 2

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 34 :

(34.1) Mention any two ancient Buddhist sites in Deccan India. 2
(34.2) (a) Name any one territory under the Mughal empire. 1
OR
(34.2) (b) Name the capital of the Vijayanagara empire. 1
(34.3) Name any two main centres of the Revolt of 1857. 2
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R g
T H. 34 & fow For question no. 34

cmim Fer A ST @T-HA T (TATfaeh)
-\ ' N A Outline Map of India (Political)

61/4/1 Page 27 of 27




